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BEIERF . v > ARSERH
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BT TLM4v¥—4% [ii] ] 7] GROSS | HDCP NET
B B B XE 39 41 80 10.8 69.2
EERS NS 41 40 81 10.8 70.2
3fiL B4R fi#— 49 44 93 21.6 71.4
AL ER #EE 41 45 86 14.4 71.6
v Wi FZ 38 41 79 7.2 71.8
61z NS i 42 48 90 18.0 72.0
7L (S 42 41 83 10.8 72.2
8fiL B &— 44 43 87 14.4 72.6
9fiL FE X 41 45 86 13.2 72.8
1013z K 2= 45 40 85 12.0 73.0
1111 4R —5 46 51 97 24.0 73.0
12131 BR E— 46 38 84 10.8 73.2
1311 s LAY 49 45 94 20.4 73.6
14141 =5 = 46 48 94 20.4 73.6
1511 BiE = 40 41 81 7.2 73.8
1611 g2 BB 40 40 80 6.0 74.0
1741 =8 B 40 45 85 10.8 74.2
18111 e =2 44 41 85 10.8 74.2
1911 TE RE 41 50 91 16.8 74.2
201z kg hE 41 43 84 9.6 74.4
2111 AR = 46 44 90 15.6 74.4
22101 g RER 37 40 77 2.4 74.6
2311 NEFEF B 44 45 89 14.4 74.6
2441 2R &3 48 47 95 20.4 74.6
2511 FE B 48 53 101 26.4 74.6
2611 =X 1817 42 46 88 13.2 74.8
2711 Bl B 42 38 80 4.8 75.2
2811 TIE i 47 45 92 16.8 75.2
2911 e HMEEC 49 43 92 16.8 75.2
301z s fE— 51 53 104 28.8 75.2
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3114z - 54 50 104 28.8 75.2
321 2 & 41 38 79 3.6 75.4
331z Fiks BESE 41 44 85 9.6 75.4
3441 BAIER  ¥EA 40 45 85 9.6 75.4
35z gl RB= 47 50 97 21.6 75.4
361z Hil % 40 38 78 2.4 75.6
3741 TE #F 60 54 114 38.4 75.6
381z (e NI - X3 48 47 95 19.2 75.8
3911 wxE #H= 44 44 88 12.0 76.0
401z 8 M= 44 44 88 12.0 76.0
4141 BR —IT 44 44 88 12.0 76.0
4241 BR EX 46 48 94 18.0 76.0
431 s = 50 50 100 24.0 76.0
44431 41 46 87 10.8 76.2
451 HF ST 42 45 87 10.8 76.2
A61L kg 7 44 49 93 16.8 76.2
AT7{L 518 ZE—Hf 47 46 93 16.8 76.2
481 IR B 50 43 93 16.8 76.2
491 B fEx 46 47 93 16.8 76.2
501z B4R =— 47 46 93 16.8 76.2
511 kB B¥% 45 47 92 15.6 76.4
b21iL wAN B 45 47 92 15.6 76.4
531iL BE F 46 46 92 15.6 76.4
b44L NS 50 48 98 21.6 76.4
551 =B R 46 45 91 14.4 76.6
561iL Zilh =R 49 48 97 20.4 76.6
b7HI =@ A 51 52 103 26.4 76.6
58I 2R B 46 44 90 13.2 76.8
591z NHFEF R 52 50 102 25.2 76.8
601z 47 55 102 25.2 76.8
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6111 = OER 45 44 89 12.0 77.0
6211 FiE 5L 50 45 95 18.0 77.0
6311 BE W 51 44 95 18.0 77.0
6441 FiE B 49 45 94 16.8 77.2
6511 ®BEE A 45 42 87 9.6 17.4
661z 47 46 93 15.6 17.4
6711 IR RE 52 52 104 26.4 77.6
681z hnEE RSk 46 45 91 13.2 77.8
6911 BiE —X 47 44 91 13.2 77.8
701z 48 49 97 19.2 77.8
7114z 8 ZBB 41 43 84 6.0 78.0
72141 BE == 44 40 84 6.0 78.0
7311 EE BE 45 45 90 12.0 78.0
7441 KB BR 48 42 90 12.0 78.0
7511 as B 46 50 96 18.0 78.0
7611 NS 47 61 108 30.0 78.0
ki 46 49 95 16.8 78.2
7811 NEPE B 41 47 88 9.6 78.4
7911 =24 R 48 46 94 15.6 78.4
801z =i UPS 52 54 106 27.6 78.4
8111 I RIAR 49 56 105 26.4 78.6
8211 Eok7 N 48 50 98 19.2 78.8
831ir N SEE S 51 47 98 19.2 78.8
84431 2T M 60 56 116 37.2 78.8
851iL =i 87X 48 49 97 18.0 79.0
861z InEE AR 54 55 109 30.0 79.0
871I WeFHx E= 46 43 89 9.6 79.4
881iL K F 51 44 95 15.6 79.4
891z LW BeER 47 48 95 15.6 79.4
901z P == 48 47 95 15.6 79.4
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914z =B fER 48 53 101 21.6 79.4
9211 B4R & 52 48 100 20.4 79.6
931z Ml T 60 51 111 31.2 79.8
94431 EpE = 49 48 97 16.8 80.2
951 B4R Elf 50 47 97 16.8 80.2
961z NGS5 { 50 47 97 16.8 80.2
9711 BRIER 1 47 49 96 15.6 80.4
981z kg 56 52 108 27.6 80.4
9911 1EBE IE 65 61 126 45.6 80.4
10011z LZEE TR 46 49 95 14.4 80.6
1011z kg FEE 51 61 112 31.2 80.8
1021z kBE 1EZ 50 60 110 28.8 81.2
10311z X FEiR 45 46 91 9.6 81.4
104141 BIIER = ALE 52 54 106 24.0 82.0
10510z P R 59 53 112 28.8 83.2
1061z ER 3 56 60 116 32.4 83.6
1071z B & 58 54 112 27.6 84.4
10811z BAIER  E)hfE 64 65 129 44.4 84.6
10911z TIE B8 47 51 98 13.2 84.8
1101z 56 62 118 32.4 85.6
111101 = == 62 74 136 50.4 85.6
1121z = R 58 56 114 27.6 86.4
1131z NS 64 54 118 30.0 88.0
114141 MAR w13 79 93 172 73.2 98.8




